IS-MA(Pub Adm)
CBCS-DDCE — IV

2014

Time : As in Programme
- Full Marks : 70

The figures in the right-hand margin indicate marks.

Answer from all the Sections as per direction.

Section-A

Answer any three questions within 700-1000 words
each of the following : 12x3 =36
1. ‘Taylor is regarded as the Father of Scientific

Management." Comment.

2. Make an assessment of Henry Fayol as the

Father of Management.

3. Analyse Weber's bureaucratic model of

organization.
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IS-MA(Pub Adm)
CBCS-DDCE — I

2014

Time : As in Programme
Full Marks : 70
The figures in the right-hand margin indicate marks.
Answer from all the Sections as per direction.

Section-A

Answer any three questions within 700-1000 words
each of the following : 12x3 = 36

1. Define Comparative Public Administration.
Examine its scope and significance.

2. Comment on Fred Riggs’ ideas on Comparative
Public Administration.

3. Discuss the executive powers of U.S. President.
4. Examine the Judicial system in France.
5. Explain the functions of UNESCO.

6. Discuss the functions and role of IMF.
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Section - B

7. Comment on any three within 400-500 words
each of the following : 8x3=24

(a) Three functions of Parliamentary
Commissionerin U.K.

(b) ‘Veto power of U. S. President

(c) Powers of House of Lords in U. K.

(d) Speaker of House of Commons

(e) Functions of ILO

(f) Judicial Review in U.S.

Section-C

8. Answer any two within 150-200 words each of
the following : 5x2 =10
(a) Senatorial Courtsey
(b) Two Functions of WHO
(c) Tenure and Election Date of U.S. President

(d) Kitchen Cabinetin U.K.

3%
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IS-MA(Pub Adm)
CBCS-DDCE — Iii

2014
Time : As in ngrémme
Full Marks : 70
The figures in the right-hand margin indicate marks.
Answer from all the Sections as per direction.

Section -A

Answer any three questions within 700 — 1000
words each of the following : 12x3 = 36

1. ‘India that is Bharat shall be a Union of States’.
Examine it in light of federalism in India.

2. Discuss the composition and functions of Prime
Minister’s office.

3. Examine the composition and functions of

Planning Commission in India.
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IS-MA(Pub Adm)
CBCS-DDCE — |

2014

Time : As in Programme
Full Marks : 70

The figures in the right-hand margin indicate marks.
Answer from all the Sections as per direction.
Section - A

Answer any three questions within 700-1000 words

each of the following : 12x3 =36

1. Explain the difference between Public

Administration and Private Administration.

2. Examine the features of New Public

Management.
3. Discuss the principle of Hierarchy.

4. Comment on the concept of ‘Citizen Character’.
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